Introduction to Superconductivity
Chapter 3 The BCS Theory
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3.6 FINITE TEMPERATURES
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3.6.1 Determination of 7T,
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3.6.2 Temperature Dependence od the Gap
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3.6.3 Thermodynamic Quantities
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3.7 STATE FUNCTIONS AND THE DENSITY OF STATES
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3.7.1 Density of States

D00000000000000 ¢, 00000000+ 00000000000000000000000
0000000 Ny(E)DODOD0OO0OO000000 N,(6)00000

Ny(E)dE = Ny (§)dg (58)

O00000000MO000000000000000000000000000 p=00000000000
FermiDODODOO000O meVOODODODODOOO 0000000000000 N,(¢)=N0O)OOO0DO00O00O
DDO0E] =A*+¢ 00

NS(E)_ﬁ: m (E>A)

N(©0) ~ dE (E < A)

(59)



goooo0o0oOoOoOooooooooooooooooooooooooO kOOooooADOOODOOOODO
0000000000000 3400000FE=A00000000000000D0O0000y,0¢,0000
ooboooooooboobooooboobooooooobooobooOog 3sb0bo0ooboobbooooooooan
goooobooboooobooobooboooobooogoobooboobooboooooboboobooooDboo
O0000ooO000oooOoOoBCSOOO0OOOOOOOOO0OOOO0O00O00O0O000000000 hw,
gooooOo0oOoOo0ooOo0oooooooooooooooooooooooOOOOOOOOOOA=00DO
O0E,=§000000000E£00000000&8=F0 FK0 ., 00O000DOO0O0OO

(m B = ((hwe)® + A% (60)
5leiblrwrlﬂ)E(g) = hw, (61)

0000AE = limg_pe, o E(€) = limg_po 10 E(€) 000000 NOODODODODODOODODODODOOD £ 0 AED
00000000000000000000000¢EDNOOOD &(E)=ED &(E)=(E>-A%>Y20000
0000000000000000

(oo +8% rde, dg,
N = Nanz;c (dE%dE)dE
= VO [ — 2272 7] 2 N ) (((w)? + 822 = (0 - 67)172)
A? -
~ NO- (62)

D0000000000000000000000000000000 N(0);A-0000000000000
000000000000
00000000000000000000000000000000000000000000000000
0000000000000 0000000000000000000000D000000000000000
0000000000 fw,00000000000000000000000000 (590000000000
0000000 (A/fw,)20000 (T./0p)?00000000000000000000000000000
000



